R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213\FL-15213.19-26.dwg, FL-15213.20

plastpro

5200 W. CENTURY BLVD.
LOS ANGELES, CA 90045

Smooth / Wood Grain / White Wood Grain

Rustic / Mahogany
Series N Fiberglass Door

INSWING / OUTSWING
"IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 2010 Florida Building Code
(FBC) structural requirements excluding the "High Velocity Humicane Zone" (HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor embedment to
base material shall be beyond wall dressing or stucco.

When used in areas requiring wind borne debiris protection this product complies with
Section 1609.1.2 of the FBC and does not require an impact resistant covering. This product
meets missile level "D" and includes Wind Zone 4 as defined in ASTM E 1996 and Section
1609.1.2.4 of FBC. The sidelite must be protected with an impact resistant covering that
complies with section 1609.1.2.

For 2x stud framing construction, anchoring of these units shall be the same as that shown
for 2x buck masonry construction.

Site conditions that deviate from the details of this drawing require further engineering
analysis by a licensed engineer or registered architect.

TABLE OF CONTENTS

SHEET# | DESCRIPTION

Typical elevation, design pressures, & general notes

Door panel details

Sidelite panel details

Horizontal cross sections

Vertical cross sections

Vertical cross sections

Buck and frame anchoring - 2X buck masonry construction

Frame anchoring - 1X buck masonry construction

VN[O WIN|—

Bill of materials, glazing details & components

INSWING

37.50" MAX.
FRAME WIDTH

52.75" MAX. OVERALL
FRAME WIDTH

98.00" MAX. OVERALL FRAME HEIGHT - INSWING
96.50" MAX. OVERALL FRAME HEIGHT - OUTSWING

S

52.75" x 98.00"

7.00" x 79.00"

OUTSWING

52.75" x 96.50"

7.00" x 79.00"

Gl1

+47.0

15.25" MAX.
FRAME WIDTH

-47.0

+47.0

-47.0

:.’, P
g8 £2 g
= ~ 2o
-E.'?_"Sé ,Jg
gogiz g
.-%néc ~
382582 o
p 28R Ng
. 58° PS5 1 ¢
3‘0“31:&;
gg‘§2‘5§ @
Z8° .
23 5850
583.{%%\)%
: S S
5@ to
(2]
L
S ¥
=8| so
Ol e g TN
txgb <©
S [
ggﬁmm
Wl o
o o 3%
5 -
S o%m
3 |~
& -
&
n
=z
O
2]
9
()
[
S
o
z
oATE: 02/16/12
SCALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL-15213.20

sueer _1_oF 9

© 2012 R.W. BUILDING CONSULTANTS INC.



TON] SLNVYLIMNSNGOD aNIOTINg "M'H 2102 @

.Muo*n,v ‘ON "F'd “IPIUYDSS "4 uopukl SNOISIAZY i o
'oz2 %&.\ SWVLIA TaNvVd 000 AH AN sl S
0 UOIDELL SIDILLS, 'Y B
cioonbuz ouOIERBIOI 30 PIDOG DPLIOL XIBNISSY 90 19vd S I
L616°659°C18 ON suoud 4000 SSv19u3aL NI
SeSEE M4 OOUIDA 0SZ Xo8 ‘0°d \Sﬁ&. "ONI 08dLSY1d of.|&|&|g 1
*ONI ‘SINVLINSNOD ONIaTNG g m . g m
:Ag pesodesd sjuewnsog] <1oNgodd & m m W
o
O 2 5
oz
i o
5
o a
. oy
SR &
R N N U
N S
o
O
® : E
Lt
< =
: )
y " =
Sr—— B = =
_ 3 Sy
=lo tf;T J Q
o P v S 4
x| 5 ﬂ =
‘, 22 =
=138 5
/ e :@m. w i
) ——
1 T~ Ly
3 w2
u% th [~——0M7=—1 =%
. . I~ (/ m b2
= S T s o
=S —— 52
- | ] 0
.... \\ e ..mu—._. [ e
I/ =i
' + 0 T S
=5 =
. B E B | E
Q n ol3 T | SIS
5 * e P 2
e} ,
2 © (®
&
(7]
O
o o G
o o -
oc oz =
L L m
Z > o
= [N K
ag
O
b=
®
/i

—I

JE—N

35.75" MAX
DOOR
PANEL WIDTH

o

LHOREH TINYd 300d XYW 5266

T°T 'BMp'9Z-6T"ETZST-T\0T0Z\SBUIMRIQ DAMY "A\L8ST 2d\009T - T0ST [oad\sseplod Pafoid\siafold - v\



TAON) SANVLIMNENOD aNIGHNEg AV 2108 @

80FCH "ON "T'd “IPIWYDS 4 uopuk] SNOISIAZY o
2ozz CALT STVLIA TINVA ILTIAIS Ad WAL slele] S 1o
0| onRbzIo 91DO1HMS )
civoubuT 1ouCISSeION] $5 PaDog DPLOL KIBNISSY H0 19vd Sl
LBLE'6S9°CLE "ON euoyd H004 SSv19¥3gld W,f . 2o 3_
GBSEE “14 OOMIPA OEZ X0 "O'd \h\wg ONI Q¥dLSY1d o |&bl& m ]
*ONI “SINVLINSNOD SNIdING i m BB
:Ag pesodedd sjpuewunsog :1oNaodd & m 5 m W
(%
(® 2 5
o
i = o
o o a
- s = iy
N s N -~ ~> N
N 3
. =
= LLj
0 & >
©
= @ mw
\ G — |
aa
| )
|0
——r T__%._L
=
& 3
i n.m_._. A‘IlM
= g
o * Qe
= ol
| \\ ! ..-C.. . .
7w ) i (814
s T o
8 * Sl
o Q U 3|0
oz R% — ,
: E 3 &
e e
Z & =
Qo 9L —=]
] o
B = ="
P .
al's
g (3] =
! ©,
. I ==
Iwd 3B
= 252 =3
L 1) in m i . .
NSz 89
= £ ~3 o
Nﬂ
£ | | ,
R ORI 8
Py
: ®
THOEH "O™1a XYW .00 64
JHOEH TENYd 2LM3AIS XYW .S7°66

'€ ‘BMP 9Z-6T"€1ZST-1\0T0Z\sBumela Damy "a\z8sT 2d\009T - T0ST (ord\s1opiod walosd\s1efold - v\



NOTE:

1. Sidelite panel secured to the sidelite
frame with (6} of item #22 located
5", 22.05", 39.10", 56.15", 73.2", & 90.25"
from top of each jamb and (2] of item
#22 in the head and sill 3" from each end

1-1/4" MIN.
EMB. (TYP.)

®

e

sl i

SEE

NOTE 1

N

77
b ®

/"2 "\ HORIZONTAL CROSS SECTION

EXTERIOR

/"1 \ HORIZONTAL CROSS SECTION

50

Outswing shown - inswing
also approved

Cutswing shown - inswing
also approved

o@

15

7

INTERIOR

£

/i

i i
[

EXTERIOR
SEE
NOTE 1

1-1/4" MIN.
EMB. (TYP.)

/~4 \ HORIZONTAL CROSS SECTION

\U Shown w/1X sub-buck

0.15"
C'SINK —o] e
(TYP.)

()

INTERIOR o

\ﬂ\
N\

o1

NOTE 1

EXTERIOR sﬁé@

/"3 "\ HORIZONTAL CROSS SECTION

w Outswing shown - inswing

also approved

1-1/4" MIN.
EMB. (TYP.)

Documents Prepared By:

P.O. Box 230 Valrice FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.. 813.659.9197

- 2.zo.rz
Lyndon F. Schmidt, P.E. No. 43409

Florida Board of Professional Engineers

Certificate Of Azthorization No. 9813

Ry

PRODUCT:

OR

RGLAS:

PLASTPRO INC.
Fl
PART OR ASSEMBLY:

HORIZONTAL CROSS SECTIONS

BY

REVISIONS

"
S
3
=
2

patE: 02/16/1

SCALE:  NLT.S.

DWG, BY: JK

CHK. BY: LFS

DRAWING NO.
FL—-15213.20

SHEET 4 oF 9

R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.19-26.dwg, 4.2

© 2012 R.W. BUILDING CONSULTANTS INGC.



TOND SANVATINMENDD SNIGTUNG

MH ZLOBQ

80PCH "ON "T'd ‘IPIUYDS 4 UOPUA] SNOISIATY o
2ez-Z P0€7) SNOLLOTS SSOMD TWOLLYIA Ad Aiva JON /m,, wlxle] § o
G UORDZLIOUIN S3DD} @ Y
cicouun 1oucISIid $5 PIBOR DPHIOL TIENISSY 90 10V Sl il PR
LBLE'6S9°CLE TON duoyd 4000 SSYIoyZ8ld /cu, ) g0 5_
S6GEE 714 OOMIDA OEZ Xo8 ‘O'd \Sﬂg "ONI 0¥dLSV1d ol . |B|&|2 I
*ONI *SINVAINSNOD SNIGTING E w 2 m = H m
:Ag peJndesd suswnooq :10Naodd & m 5|2 &
- ('dAL) "awg
NIW /-1
T ®
, .
N e
< i
A | COK. o
SU T m m D )
g = = = @ I =
. v u m m m s .. m
, O e
-9 Lig B (7 1 — SRR Lig
. ” “ A'{] ‘. f . ..D 2 M c
< w R 7 a O
o | 2 . E 4 23
< ~ O M ” - ‘ - S o m
) SE N \ . 5l
e
R I vE (22— Jlc
v (a4 Qs [’ | ‘\ w : - .n
O] w2 (@) —\ : ‘ e m
= S5 = . > >| &
® & N & &® W -
o IR G oS ’ 7/ . =
I
® s
7
- 4 .

('dAL) "aw3
"NIW #/1-1

INTERIOR

also approved

w Qutswing shown - inswing

/1 \ VERTICAL CROSS SECTION

EXTERIOR —

INTERIOR

EXTERIOR

3@

(dAL) "awa
"NIW F/1-1

("dAL) “awd

NIW ./ 1-1

/"3"\ VERTICAL CROSS SECTION

\y Outswing configuration

'S 'BMP'9zZ-6T°€TZST-1H\0T0Z\sBuIMeIg DEMY "A\Z8ST J44\009T - 1061 [oid\siepiod 1afoid\ss{old - v\iyd



o af
a B T2
gf f23%
L A Y o a . - I~ e L
) gt = 3k
\ . v B o e : . . R . - . : < = ;@ ‘6 -
o - < D »ﬂ: v . a . ¢ 44y 7 4 ? h a %Zg‘g{:‘ 5
() ' e B BN g238s2 4
." “ 23,885
1; (A)— ——/ fBuzag §
.f r 2T ssaf |l
3 L W3 Ry c o
o = o o £ [SH
e E o
Y \ ¢ 3 :
SEE@// /\ SEE@/ j /\
NOTE 1 ‘ ) NOTE 1 ‘ %
52 <
= = S
! / 205 8
EXTERIOR INTERIOR EXTERIOR INTERIOR A é 25‘ &
g&t!% -
/1 VERTICAL CROSS SECTION / 2"\ VERTICAL CROSS SECTION L FE9S
w Outswing shown - inswing NOTE: w Shown w/1X sub-buck 5 ¥ =
also approved 1. Sidelite panel secured fo the sidelite 3 o =
frame with (6) of item #22 located = <
5", 22.05%, 39.10", 56.15", 73.2", & 90.25"
from top of each jamb and (2} of ifem %
#22in the head and sill 3" from each end INTERIOR ” EXTERIOR
EXTERIOR INTERIOR
D /I ’ SEE 9
% ’4@NOTE ] Z
| (@) (29) ’ 2
NOTE 1 0
@ - —— Q'
o0 £ £
., 03 I o
T3 T3
£ L
S g ‘ . B | };E
b > . j ;b 3
St e o
. o =z
. - . oaTE: 02,/16/12
scale:  NUT.S,
DWG. BY: JK
cHK. B:  LFS
(3" VERTICAL CROSS SECTION (4 \ VERTICAL CROSS SECTION RARING 107
\\é/ Outswing configuration \é/ Inswing configuration FL—15213.20
SHEET 6 OF_9

R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.19-26.dwg, 6.2

© 2012 R.W. BUILDING CONSULTANTS ING.



R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.19-26.dwg, 7.2

B;QH j:Al

e B a.
3 ENANY I

4 SR T RNy
B LTI S T

? TYP. HEAD
MASONRY J |~ & JAMBS
OPENING

7
1]
]
Il
Il
Il
/]
]
I

-

24" MAX
ON CENTER

T MULLION “ =T
SHOWN FOR
2XBUCK~| REFERENCE Il
ONLY [l
. I] 1
1]
— ]
L ]
=L ] 1
“ ! — 11
BUCK ANCHORING
CONCRETE ANCHOR NOTES:

e

e
|
Caod

34"

60.13"
[I—
5

86.75"

|
o]
Coe

HINGE JAMB

1. Substitution of equal concrete anchors from a different supplier may have different edge

distance and center distance requiremens.

2. Concrete anchor locations ot the corners may be adjusted to maintain the min. edge
distance to mortar joints. If concrete anchor locations noted as "MAX. ON CENTER" must be
adjusted to maintain the min. edge distance o mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimensions are not exceeded.

3. Concrete anchor table:

ITw /&

1-1/4

3“

ELCO 1/4"

1-1/4

4«

TYP. HEAD &

MASONRY JAMBS

OPENING

|

FRAME

14.5" MAX
ON CENTER

i TYP. @ SILL

FRAME ANCHORING
Masonry 2X buck construction

//
5:. :
HINGE DETAIL

55— |

STRIKE JAMB

@ 9

LATCH & DEADBOLT DETAIL

2. 2¢- 12

813

BUILDING CONSULTANTS, INC.
P.0. Box 230 Valrice FL. 33585
Phone No.: 813.659.9187
Florida Board of Professional Engineers
Lyndon F. Schmidt, P.E. No. 43409

Certificate Of Autthation No.f

Ry

Documents Prspared By:

PLASTPRO INC.
FIBERGLASS DOOR

PART OR ASSEMBLY:
BUCK MASONRY CONSTRUCTION

BUCK & FRAME ANCHORING 2X

PRODUCT:

BY

REVISIONS

NOJ DATE

DATE: 02/16/12

SCALE:  N.T.5.

DWG. 8Y: JK

CHK. BY: LFsS

DRAWING NO.:
FL—15213.20

SHEET _7 OF 9

@ 2012 R.W. BuiLoing CONSULTANTS ING.



R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.19-26.dwg, 8.2

6" S m é
=z A £ s 3" (] g 5 2
N Ao T 7 0 8 3 “{ 3
, a . . R .4"‘.4‘,_-‘1‘4»‘/ l‘“—j <—-—-3 225%5‘* 2
_ S et .fdo b . | ¢
‘ o 4 ) ] e ] - 8 z
) | 1 | 0@ 5\ |
= X OO C bad
T . —_ 1 . // GEg 85 e
(3 o : ! g oo 24 (N8
o % . on® BGLUCE
a0 g,«ou-:ﬂ-;\\,_-
SR vggg"a;:; 5
3 g TYP. HEAD & o 55%eps
: 7‘_ JAMBS — _ . ;—-; F3388s 5
MASONRY x@ " § o8 %
OPENING £ x_g 5
& ] E @ il
S | g §
- gg ° = g’ ®
HINGE DETAIL S
2 v 23
P / . I S ESE
. FRAME - | TP . 25 LF
oW 4%
o EHs B
et 1 Y £5lg 88
Lag
= O D:Iu O
: 3 % ’— (M)< 287 =
® == s [E - ® T - L
| B I
i S | =
= S
1X BUCK _TI0
@ \ P fa= b= & @ 27 E
4
A Y
| 3
. | 1 TYP. @ SILL ] ] . .
S <
o 73
QY I | 7]
R L \ LATCH & DEADBOLT DETAIL oy
LSy L mtee
HINGE JAMB FRAME ANCHORING STRIKE JAMB
Masonry 1X buck construction
CONCRETE ANCHOR NOTES:
1. Substitution of equal concrete anchors from a different supplier may have different edge L
distance and center distance requirements. =
2. Concrete anchor locations at the cormners may be adjusted fo maintain the min. edge
distance o mortar joinis. If concrete anchor locations noted as "MAX. ON CENTER" must be o
adjusted to maintain the min. edge distance fo moriar joints, addifional concrete anchors =
may be required to ensure the "MAX. ON CENTER" dimensions are not exceeded. oATE: 02/16/12
3. Concrete anchor table: scae: N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.
ITw /4 1-1/4° 2-3/Z k' FL—15213.20
SHEET 8 oF _9

©2zD12 R.W. BUILDING CONSULTANTS NGO,



BILL OF MATERIALS

2400 —]

HEAD & SIDE
Jamb

@_A_DJUSTABLE INSWING THRESHOLD

5.63"

456" 2
~— 237" —=
V\\_\ | i —
‘1 N l l l !
213" — = T
. SIDELITE SPACER
- 456" |
= ' |t
T

— 1"NOM.

/ GLASS

'/ NN

_—
T —— AIR SPACE

M R —

ITEM] DESCRIPTION MATERIAL |
A_| 1X BUCK SG >= 0.55 WOOD _
B_|2X BUCKSG >=0.55 WOOD S
C_[1/4" MAX. SHIM SPACE i -
D_| 1/4' X 2-3/4" PFH ELCO OR TW CONCRETE SCREW STEEL ’
c | MASONRY - 3,192 PSI MIN, CONCRETE CONFORMING TO AC CONCRETE

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

F_| 1/4° X 2-3/4" PFH TW CONCRETE SCREW STEEL

H_| 1/4"x3-1/4" PFH TW CONCRETE SCREW STEEL

|| 1/4" X 2-1/4" PFH TW CONCRETE SCREW STEEL g
J_|[1/4" X 3-3/4" PFH TW CONCRETE SCREW STEEL

L[ #10X2-1/2" PFH WOOD SCREW STEEL

M_| #9 X 2-1/4" PFH WOOD SCREW STEEL

5 [#10X 2 PFH SCREW STEEL

& | SEALANT SIICONE

7 | FORCE 5 WEATHER STRIPPING BY ENDURA FOAM

8 | COMPRESSION WEATHER STRIP QLON 650 BY SCHLEGEL FOAM

9 |4 X 4 BUTT HINGE STEEL

70 | #9 X 1* PFH WOOD SCREW STEEL

T1 | #9 X 3/4" PFH WOOD SCREW STEEL

17 | KWIKSET KEYED ENTRY - SIGNATURE SERIES STEEL 5 GLASS
18 | KWIKSET DEADBOLT - SIGNATURE SERIES (780] STEEL BITE
20 | FINGER JOINTED PINE FRAME, HEAD & HINGE JAMBS WOOD
22 | #8 X 2 PFH SCREW STEEL L
27 | LATCH STRIKE PLATE STEEL 2
28 | DEADBOLT PLATE STEEL L
29 | SIDELITE SPACER PVC S
30 | INSWING VINYL DOOR BOTTOM SWEEP BY ENDURA VINYL S
31 | OUTSWING BUMP THRESHOLD ALUM. / WOOD |
32 | VINYL DOOR BOTTOM SWEEP #3628 BY HOLM. IND. VINYL
33 | INSWING ADJUSTABLE THRESHOLD BY ENDURA ALUM. / WOOD
34 | INSWING ADJUSTABLE ALUMINUM THRESHOLD BY DLP ALUM. / WOOD
35 | SHOE MOULD 5/8" X 3/8" WOOD 49
33 | GLAZING SPACER ALUM.
39 | SNAP IN LITE FRAME ABS
40 | DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS i
41 | DOOR SKIN [MIN. 0.086" THICK) FIBERGLASS
42 |TOP RAIL CELLULAR PVC
43 | LATCH & HINGE STILE EDGE CELLULAR PVC
44 | LATCH AND HINGE STILE SUPPORT WOOD
45 | BOTIOM RALL CELLULAR PVC
46 | POLYURETHANE FOAM BY NAN YA POLYURETHANE
47 | STILE REINFORCEMENT STEEL
48 | REINFORCEMENT RETAINING SCREW NYLON
49 | GLAIING COMPOUND SILICONE
50 | SIDELITE PANEL - SEE SIDELITE PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS i
51 | SIDELIE STILE EDGE CELLULAR PVC
52| SIDELITE STILE SUPPORT WOOD
53 | SIDELITE TOP & BOTIOM RAIL CELLULAR PVC

39

<:: ) GLAZING DETAIL

GLASS THK.

1/8" TEMPERED

31 OUTSWING BUMP THRESHOLD

\ 1/8" TEMPERED

GLASS
57 GLASS
Bn‘E e ]" NOM.
GLASS THK.
= 1/8" TEMPERED
GLASS
» — —AIR SPACE
~ K =l
i~ ‘. S §
. %DECORATNE INSERT
AlR SPACE
SWIGGLE 1/8" TEMPERED
SPACER GLASS
GLAZING DETAIL
With opfional
decorative insert

9813

2-20»(2_
0. 43409

Lt

P.O. Box 230 Valrico FL. 33585
Lynden F. Schmidt,

BUILDING CONSULTANTS, INC.
Phone No.: 813.659.2197
Florida Beoard of Professional Engineers

Certificate Of Authorization

Ry

Documents Prepared By:

PLASTPRO INC
FIBERGLASS DOOR

PART OR ASSEMBLY:
DETAILS & COMPONENTS

BILL OF MATERIALS, GLAZING

PRODUCT:

BY

REVISIONS

=
<
a
o
=z
2

DATE: 02/16/1

SCALE:  N.T.S.

pWG. BY: JK

CHK. BY: LFs

DRAWING NO.:
FL—-15213.20

SHEET 9 oOF 9

R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.19-26.dwg, 9.2

—

© 2012 R.W. BUILDING CONSULTANTS ING.



